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All answers should be written on the ANSWER SHEET.

G 45
Section A — each question carries 4 marks

1)

2)

3)

4)

S)

6)

7)

8)

A3, Tey ~ T8, =EET - ATLUAHEL 6 (EREIHY =118 - SKiE 6 [ =(r #HyFI -
6 different three-digit numbers can be formed using the digits “3”, “6” and “8”. Find the sum of these 6
three-digit numbers.

K BJFRAREE 352 % 0 Fluhig - A 175 ANE > 169 N EH » K FIRARE L /DA ?
There are 352 passengers on the train in the beginning. Upon arrival at the station, 175 passengers get off
and 169 passengers get on. How many passengers are there on the train now?

EEEMH 20170312201703122017...... AL 0 56 90 {2 E e ?
The number 20170312201703122017...... is written on and on. What is the 90™ digit?

KU EAAE -
Find the value of the following expression.
1111x111111111

BEELEMI R E6 K 4 R 0 BV S SELBIE RIS/ 5 Bt - BEsHISISIRAE 40 5% > B EER
WER AR S5 1% > MR 2/ Dk ?

Yolanda is 4 years older than her younger brother. Her father is 5 years younger than her mother.
Yolanda’s mother is now 40 years old. The age of Yolanda’s father is 5 times that of Yolanda. How many
years old is Yolanda’s younger brother?

BEEEZK 20 R0 20 i T - AL 540 T - —EMFIE—ER TR 3T — &R T 0IT ?
A restaurant spends 540 dollars to buy 20 cups and 20 plates. A cup costs 3 dollars more than a plate.
How much is a plate?

3K 3x3x3x...x3 HY{Er 8] -

88 3

Find the units digit of 3x3x3x...x3.
Ha b=axb—(a+b) K5 (8 3)fH -
If @ b=axb—(a+b), find the value of 5 (8 3).

~ FHE5E ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.

LS S o
Section B — each question carries 5 marks

9) 3K20172017...2017 &1L 9 HIEREK -

2017 2017

Find the remainder when 20172017...2017 is divided by 9.

2017 "2017"'s

10) &l 10.1 HEAEA FEAR/NYIETTIZAHRG - & RV RREMBES - °KIE 10.1 AYFEH -
Figure 10.1 is formed by several squares of different sizes, where the numbers stand for their areas. Find
the perimeter of figure 10.1.

49 81

; 6 36

10.1
Figure 10.1

1) TAIEAF > BRERIEHE > $REw NeZ /0 ?

In the calculation below, the divisor and the quotient are equal. What is the least value of the dividend?

() )=( )2
12) FE—RARSRISS (e TH e 42 #1 - SRR 2 08 8 ok » SRRk ?

42 trees are planted along a road from one end to another on both sides. Every two adjacent trees are 8
metres apart. How long is the road in metres?

13) 2 GFREE S /N REER 80 FIRHVENRY » IISHETHR S GIERAIFRERIFRR 400 S5 KAy S H
B/ DN ?
2 lawn mowers can clear a lawn of 80 square metres in 5 hours. At such rate, how many hours does it
take for 5 lawn mowers to clear a lawn of 400 square metres?

14) &/ 6~2~0- 978 4 (#¥F7rR 2 20 » 73 RI4H 2 [ERI A7 - ERTEERIEE A - KIS (ERE -
Split the 4 numbers 6, 2, 0 and 9 into 2 groups and form 2 two-digit numbers respectively so that their
product is maximized. Find the product.

15) {EETREBAHNT » S —(E B E L% 4 558k 9 SERIGEINVRRZE 722 - B IEMERIRZE 532
SRR — {8 -
In a multiplication of two numbers, the units digit 4 in one of the number is mistakenly written as 9 and
as a result the product acquired is 722. If the correct product is 532. Find the larger number?

16) Fa>b > a@bz(a+2)><(b—1) ; 73 HI a@bz(bx2)+(a><3) ° 5}2116@(16@(2@8))9’\]@0
If a>b , aOb=(a+2)x(b—1) . Otherwise, aO®b=(bx2)+(ax3) . Find the value of
1160(160(208)).

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
BEEAPRAFTR » MEZIRA AR RSP © BREAEERASN - RRIHE AL - SERAEALR A4S T 8L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

~ LER5E ~
~ End of Section B ~
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All answers should be written on the ANSWER SHEET.

(SR IRES= W)
Section C — each question carries 7 marks

17)

18)

19)

EE-FRIUOWFEEIRERTZE 99 5% > HoBLEEE/N 8 5% » SCRELRERIR 2 5% - 10 FRTTERK A
FHHINIE 65 5% » MSFREEZ/DRE 7

The four members in Mandy’s family have their ages add up to 99. Her brother is 8 years younger than
Mandy. Dad is 2 years older than Mum. 10 years ago, their ages added up to 65. How old is Mum this
year?

BRI = EE - SEALZAZE 8 tIFEBEIVE T - B =1 BEHE % ?
The digit sum of each of several three-digit even numbers is 8, with no repeated digits. How many such
three-digit even numbers are there?

ERIFIERF TS 394052186, - [HEHUS A IERE - B SaRMimE b 2 (S8R T - [
FEm BTG L DA ?

Maffia enters the password “394052186” when she comes to the door. The gatekeeper says she has
swapped two of the numbers. How many passwords at most does Maffia need to enter?

20) ASSRR-HPIREREEL, 2REFEE2, 3REFE 3, e 1058 FEEE 110 -
AR R HGE 95 » iR EEF 8RR 312 o] DI/ DikR R 2
There are 55 cards. “1” is written on 1 card, “2” on 2 cards, “3” on 3 cards, ...... , “10” on 10 cards. Now

several cards are picked so that the sum of the numbers on all cards is 312. How many cards can be
picked at most?

S
~ End of Paper ~

FURMPAEREE - Bt RERET R FLERM > WHERBETBEIT 78 kTR RSN -

E;TLM‘EEt%T UEE%E'EUA/E RV - BREFHEEIASN - HRREREAL - SRR e TR 8 -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



